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Multiplication & Division Inférieurs a 100 Nom:
Calculez lavaleur delavariable. Réponses
1) 72+B=8 B=
1.
2) 20+C=10 C=
2,
3) 5x6=E E=
3.
4 F=10x9 F=
4.
5 7xG=35 G=
5.
6) 28=H x4 H=
6.
7) 1=J+10 J=
7.
8) 10=60+K K=
8.
9 L+3=6 L=
9.
10) 24+3=M M =
10.
11) N=3x2 N =
11.
12) p=24+6 P=
12.
13) 1= Q=+3 Q=
13.
14) 8=4xR R=
14.
15) 4xS=32 S=
15.
16) 4x8=T T=
16.
17) U+4=10 U=
17.
18) V=5+1 V=
18.
19) 32=4xW W =
19.
20) Y x10=20 Y =
20.
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Multiplication & Division Inférieurs a 100 Nom: Clé
Calculez lavaleur delavariable. Réponses
1) 72+B=8 B= 9
- 1. 9
2) 20+C=10 C= 2
> 2
3) 5x6=E E= 30
— 3 30
4 F=10x9 F= 90
— 4 0
5) 7xG=35 G= 5
5, 5
6) 286=H x4 H= 7
6. 7
7) 1=J+10 J= 10
— 7 10
8) 10=60+K K= 6
— 8. 6
9) L+3=6 L= 18
— 9. 18
10) 24+3=M M = 8
10, 8
11) N=3x2 N= 6
11. 6
12) P=24-+6 P= 4
— 12. 4
13) 1=Q+3 Q= 3
13. 3
14) 8=4xR R= 2
14, 2
15) 4xS=32 S= 8
15. 8
16) 4x8=T T= 32
— 16. 32
17) U+4=10 U= 40
— 17, 40
18) V=5+1 V= 5
— 18. 5
19) 32=4xW W= 8
19. 8
20) Y x10=20 Y= 2
20. 2
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Multiplication & Division Inférieurs a 100

Nom:

Calculez lavaleur delavariable.

Réponses

4
90
18

10

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

72+B=8

20+C=10

5x6=E

F=10x9

7TxG=35

28=H x4

1=J+10

10=60+ K

24+3=M

N=3x2

P=24+6

10.

11

12.

Modifié
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